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JOo0000o00ododododod Themain/important
point / conclusion / reasonl] . The point to note hereld 2.01 [0 [ [
OO0O000000000 There are three major reasonst] 3.but
OhoweverD OO ODODOOODOOOO0OOOO0OOONO The
rising birth rate is not due to increased fertility, but to a sharp decline
inthedeathrate. A0 0000000000 O0OOOOOOO
DO000000000000 Whyisapiped water supply so
Important? Disease due to contaminated water is a common cause of
deathinchildhood. 5.0 D0 OO 0OOOOOOODOOOOOO
J000000d0o00o0odoodoodon Deathcontrol
can be achieved autonomously. In other words, the death rate can be
cut without anythingelsechanging.6.J O 0 OO0 0000 odd
Jo0odoooooooooooooo* ooor oo
[ Thereforethe result In conclusionwe can conclude One of the
primary conclusions7.00 0 0 O 000 o0oooooonoon
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example/instancelike Such asthese include To illustrateamong these
aeJ 00000000000 O0OOO0OODO0OOOOOO
The developing countries are dependent on cash crops sugar, coffee,



cacao, cotton. Precipitating/violent/unexpected factors are those
which reduce the food supply (droughts, floods, wars, epidemics) L]
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OO000000000 Themainreasonfor (OO OO OO OO
[1) the reduction in the death rate in the developing world has been
improved public health measures. For example, (U O O 0O O O O
OJO00000000000000000)inSriLankathe
death rate was halved over ten years by spraying the mosquitoes
whichcarrymalaria. Why (U D 00000 o0dooooodd
(1 00 0 )is it so easy to cut the death rate in this way and yet so hard
to reduce the birthrate? Oneanswer (U O O OO0 00 00 00O
OO000000000O)is that public health measures can be
very cheap. Anti-malarial spraying is inexpensive. But this is not the
important point (O O DbutD OO OO OO0 OO D). For birth
control programmes to be successful, a change in attitude is required,
whereas death control can be achieved autonomously. In other
words, (U OO OOOOOOOOODODO D) the death rate
can be cut without anything else changing. [ [ [0 [
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